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[Ni(CO),] Egpet i SATMUd T Frereha 0T &
(1) =t gHael safafa ua fogresha

(2) TTTHHE SATUIT TF TrIgraehi
(3) i Gwaett STl T SgrEhE

(4) SRR AT T SATIHT
IR ST, Fe(CO)5 8

(1) =Isehohgh

(2) Tehohgeh
(3) Frehes
(4) fghga

Fafafad § @ SH-a1 A d-d GhHT ST § a9
Y & A grEhed ol ?

(1) Cr0;”
2)  Cry02”
(3) MnO,
4) MnO;~

HFe [CoCly(en),] GRT FEfRid HHTERIEAT 1 TN &
(1) S FHTEREar

(2) IUTEHAS FHTEHEAT

(3) I |HIEIEdl

(4) So FEE—EAr

Hiam [ § fou U urg omal & wiem 11 8 fau Mo
ARAT & WU gEEehE  oeEn 8 fEmwsy qun
#gl Teha w1 fHfdse Hifvw

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) square planar geometry and diamagnetic
(2) tetrahedral geometry and diamagnetic

(3) square planar geometry and paramagnetic
(4) tetrahedral geometry and paramagnetic
Iron carbonyl, Fe(CO)jy is

(1) tetranuclear

(2) mononuclear

(3) trinuclear

(4) dinuclear

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

1) Ccroy
@) Cry02”
(3)  MnO,
(4) MnO>"

The type of isomerism shown by the complex
[CoCly(en)s] is

(1) Geometrical isomerism

(2) Coordination isomerism

(3) Ionization isomerism

(4) Linkage isomerism

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Hicd 1 HicrH 11 Column I Column I
a. Co>* i. 8 B.M. a. Co>* i. 8 BM.
b. Cr** ii. /35 B.M. b. Cr3* ii. /35 B.M.
c. TFe** iii. 3 B.M. c. TFe** iii. 3 BM.
d.  NiZ* iv. /24 B.M. d  Ni?t iv. 24 BM.
v. 15 BM. v. 15 B.M.
a b c d a b c d
1 v v ii i 1 iv v ii i
@ i ii ii iv @ i i iii iv
3 iv i ii iii 3 iv i ii iii
@ i v i ii 4) ii v i ii
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10.

11.

frafafea & @ *Fw o MF63‘ AT T H

e B 2

1) Ga

(2) Al

3 B

4) In

N-AMfhi  $h! ST ST HI1 Heal gl

Tl A 8

(1) HNOg, NO, Ny, NH,CI

(2) HNO,, NO, NH,CI, N,

(3) HNOg, NH,CI, NO, N,

(4) NH,CI, Ny, NO, HNO,

ufem @ H WH § Wd gY MHefafed #§ @

HH-H GTg HT I VGEAT b uEIA § foRAm

Hehdl B ?

(1) Fe

(2) Zn

(3) Mg

(4) Cu

el & fou f=feifaa & & s-o1 %o o 787

77

(1) Tft voher &g 3Tt 3 oA § |

(2) |t SAfefipres s & |

(3) TR & ofcter @fl  eFTeHsh TR
FareTd g & |

(4) FAH s Taiferes goiaet T80 Tedt 7 |

CIF; & €A § g T ‘ClP W THIhR I

AR <hl TEAT B

1) T

2

(3) =X

(4) =

frafafad & @ yu 13 & o= & waTfoges Breamatt @

HIH-HT T TE B ?

(1) B<Al<In<Ga<Tl

(2) B<Al<Ga<In<Tl

(3 B<Ga<Al<Tl<In

(4) B<Ga<Al<In<Tl

10.

11.

Which one of the following elements is unable to
form 1\/[F§ “ion ?

(1) Ga

(2) Al

3 B

4) In

The correct order of N-compounds in its

decreasing order of oxidation states is

(1) HNOg, NO, N,, NH,Cl

(2) HNOg, NO, NH,CI, N,

(3) HNOg, NH,C], NO, N,

(4) NH,CI, Ny, NO, HNOg4

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?
(1) Fe

(2) Zn

(3) Mg

4) Cu

Which of the following statements is not true for
halogens ?

(1) All form monobasic oxyacids.

(2) All are oxidizing agents.

(3) All but fluorine show positive oxidation
states.

(4) Chlorine has the
enthalpy.

highest electron-gain

In the structure of ClF3, the number of lone pairs
of electrons on central atom ‘Cl’ is

(1) one

(2) two

(3) four

(4) three

The correct order of atomic radii in group 13
elements is

(1) B<Al<In<Ga<Tl

(2) B<Al<Ga<In<Tl

(3) B<Ga<Al<Tl<In

(4) B<Ga<Al<In<Tl
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12.

13.

14.

15.

16.

U= 1 AR Yed g wieaw § i W

m-TERAA oft ST B F=Iifeh

(1) fereaass <1 3ufeafd o sTas[g A3l @g gA
haet m-feafa @ & St 2 |

(2) FogeEE Uigeemma orfufseen # Ul wwg
m-fézel B |

(3) uiceumges 1 sufeafd # g wyg g
m-feafa ST 2

(4) ot (vodt) "em | el et smm
& ¥ B R |

frieh 9g 31T TR Sghi o HgH H Ffaiad d

T ST HAT HTHT 2 ?

(1» T fafim W sgos Jeaet F 6
UEEASTh Y Bd @ |

(2) A fgfsrarcnss wa Ffsharcns gl % THah o
T4 @ |

(3) haITEe TH AT $Heh 38 & |

(4) T TEAH JEAH W A HEHASEH Y
B8 |

Ufireie wa Ufirenfeed § fafiear 2

(1) Ureufdea i1 > 4 o989 qAT 1 > 6 o987
3

(2) UHAEH 1 >4 oSG qAT 1> 6 I &

(3) UfieufdeT ¥ 1 - 4 o999 9AT 1 - 6 I B

(4) U e Td A | ST R

2:3 g Wil A qAT 4-5 g AT A I TTg

H,S0, § T3 am W 3cafsia e fasmr st KOH

% B¢ Zhsl ¥ TR a1 8 | STP W = gY 391G
1 IR (g H) g

1 14

(2 30

3) 28

4) 44

fFrafafga & @ wH-H IloaEe A waifus <l
Tpid B ?

(1) MgO

(2) BeO

(3) BaO

(4) CaO

12,

13.

14.

15.

16.

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(1) In spite of substituents nitro group always
goes to only m-position.

(2) In electrophilic substitution
amino group is meta directive.

reactions

(3) In absence of substituents nitro group
always goes to m-position.

(4) In acidic (strong) medium aniline is present
as anilinium ion.

Regarding cross-linked or network polymers,

which of the following statements is incorrect ?

(1) They contain covalent bonds between

various linear polymer chains.

(2) They are formed from bi- and tri-functional
monomers.

(3) Examples are bakelite and melamine.

(4) They contain strong covalent bonds in their
polymer chains.

The difference between amylose and amylopectin

is

(1) Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

(2) Amylose have
1 — 6 B-linkage

1—>4 o-linkage and

(3) Amylopectin have 1 — 4 o-linkage and
1 — 6 p-linkage

(4) Amylose
galactose

is made up of glucose and

A mixture of 2-3 g formic acid and 45 g oxalic
acid is treated with conc. HySO,. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

1) 14
(2 30
3) 28
(4) 44

Which of the following oxides is most acidic in
nature ?

(1) MgO
(2) BeO
(3) BaO
(4) CaO
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17.

18.

19.

T A B A, CgHyyO S foh NaOI (Y i stfifsman
NaOH ¥ sieh =T T37) & AT ek anafires

Ty g1 fielt a8 2an @ |
A IR Y wHsl: B

1 Hee ) CH, - OH 3K,
{ - CH, - CH, - OH i1,
(3) CH - CH3 3R I
O cn-cu e,
OH

(2)

CH,
4) CH, G OH 3 I,
39 afufsha

OH O Na*
@ + CHCl, + NaOH ——> @ CHO
H wirifed soiageg 8

®

(1) SEFAREES gaRE (CHCL,)
@

(2) ifd &= (CHO )

S]
(3) SRFORMIS FUMEH (CHCLy)

(4) eEFARE (:CCly)

HIeifrdfctsh Tl o FIYATH THGET TMTaeh geIdH
e UfcerEel, e qo1 ¥g 9% 6 Uewiaidl o
I BId & | I8 TohEreh HIU1 BlaT ® 2

(1) 3Fd:370h gr3gior Sed o7 &

(2) HElFaAe STRE F T4 &

(3) AT AT 1 e ATIH FUH e
T ITHYU el h g BT B

(4) STANTIF gEGSH q67 a4

17.

18.

19.

Compound A, CgH,,0, is found to react with

NaOI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

HyC ) CH, - OH and I,
¢ )~ CH, - CH, - OH and I,
©_ CH — CH3 and 12

|

OH

(1)
(2)

3

CH,

CH, G OH and I,

In the reaction

4)

OH O Na*

@ + CHClg + NaOH ———> @F CHO

the electrophile involved is

®
dichloromethyl cation (CHCl )

@
formyl cation (CHO )

(D

(2)

)
(3) dichloromethyl anion (CHCly)

(4) dichlorocarbene (:CCly)

Carboxylic acids have higher boiling points than
aldehydes,
comparable molecular mass. It is due to their

ketones and even alcohols of

(1)

formation of intramolecular H-bonding

(2)

formation of carboxylate ion

3

more extensive association of carboxylic
acid via van der Waals force of attraction

4)

formation of intermolecular H-bonding
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20.

21.

22,

frefafea & @ fha oy & ad @ g & wEwRT §
sp?, sp?, sp, sp HeRLUT ST STl & ?
(1) HC=C-C=CH
(2) CHy,=CH-C=CH
(3) CH,=CH-CH =CH,
(4) CH;-CH =CH - CHy
freafafgs & @ *F-w FEgIRA gaffas wemh
uferd @ ?
NO,,

(D

o

Oy
Y H
NO,
3) H7©
®

NO,

frafafed & ¥ ufeemst ¥ -1 va9 ¥ ged A
HH-81 T& 7 ? (R = Ufeswa)

(1) -NHy<-OR<-F

N
Y

s

(4)

Y

(2) -NR9y<-OR<-F
(3) -NHy>-OR>-F
(4) —-NRy>-OR>-F

20.

21.

22,

Which of the following molecules represents the
order of hybridisation sp2, sp2, sp, sp from left to
right atoms ?

() HC=C-C=CH
(2) CHy=CH-C=CH

(3) CH,=CH-CH=CH,
(4) CH;-CH=CH-CH,

Which of the following carbocations is expected to
be most stable ?

(D ®

(2)

Y H

NO,

Y H
NO,
NO,

.

NO,

Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(1) -NH;<-OR<-F

3

s

s

4)

=<

(2) -NRy<-OR<-F
(3) —-NH;>-OR>-F
(4) —-NRy>-OR>-F
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23.

24.

25.

26.

argree # St Td A fmanet A & Rt g
T BT HATFATES TRV TgTh Tg7 & 2

(1) N,O,

2 NO,

(3) N,0

4) NO

Hifieh A S Na & Affspan e ® o B a1 8 ao
PCl % |1 SATHHIT HEH Wag C @ & | B W C
A1 b wy # il am W SR SR U
B2 | A BACHA T &

(1) C,H5OH, CyHyg, C,HsCl

(3) C,H,CI, C,H,, C,H,OH

e AMfieh C,Hg Ffafaa sfufsransti @ 1o 2 -

3Cl,/A Bry/Fe _ 7Zn/HCI
CHy —2—>A—2 >B— C

31E ‘C 7

(1) m-sSERIgeT

(2)  o-FHIEIgEH

(3) 3-§MHI-2,4,6-EFANICITE
(4) p-SHIIEA

BESIhEA (A) s & wfoeen= gro stfufseen e
T Ufcha suEe <@ ® S T gdw iR g
et grEgpre # aiafda g & foem % =) @ @m
e T § | (A) 7

(1) CH=CH

(2) CH,=CH,

(3) CHy- CHj

(4) CH,

23.

24.

25.

26.

Which oxide of nitrogen is noft a common
pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) NyO54

(2) NOgy

(3) Ny,0

(4) NO

The compound A on treatment with Na gives B,

and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,H5OH, CoHy, CoH,CI
(2) C,HsOH, C,H,Cl, C,H;ONa
(3) C,HsCl, CoHg, C,H;0H
(4) C,H5OH, C,H;ONa, C,H;Cl

The compound C;Hg undergoes the following

reactions :
3CL,/A

Bry/Fe _ 7Zn/HCI
Hg A B

The product ‘C’ is

(1) m-bromotoluene

(2)  o-bromotoluene

(3) 3-bromo-2,4,6-trichlorotoluene
(4) p-bromotoluene
(A)
substitution to form an alkyl bromide which by

Wurtz
hydrocarbon containing less than four carbon

Hydrocarbon reacts with bromine by

reaction 1is converted to gaseous

atoms. (A) is

(1) CH=CH
(2) CH,=CH,
(3) CH3;-CHg

4) CH,
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27. fr=faRga sifufeen <f@en & g&9 3¢ P, Q 3R R
%! TEATHT :
AIC,
@ + CHyCH,CH,Cl ———5—»
M 0,
———2 __>Q+R
(ii) Hz0*/A
P Q R
CH,CH,CH;  CHO
@ ) cnen,-on
CH,CH,CH; CHO  COOH

Q0.0

CH(CHy),

OH
@ CH;CH(OH)CH,

3

OH
CH(CHy),
) @ CH; - CO — CHj

28. fmafafga & 4 =-w1 A e s ghan
2?
(1) el

wHRfaEs

SIgh ITFA

AT

(2)
3
(4)

27.

28.

Identify the major products P, Q and R in the

following sequence of reactions :

Anhydrous
AlCl,
@ + CHzCH,CH,Cl ———=—

(1) Og

T Q +R
(i1) H3O*/A

P Q R
CH,CH,CH;  CHO

(1) CH,CH, - OH
CH,CH,CH; CHO  COOH

Yol eNe

CH(CH,), OH
(3) CH;CH(OH)CH,
OH

£, on-co-cn,

Which of the following compounds can form a

CH(CHy),
Nt

zwitterion ?
(1) Aniline
(2) Acetanilide

Benzoic acid

3

(4) Glycine
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29.

30.

31.

32.

33.

et afifsran

MnO, +Cy05 + H* — > Mn2* + CO, + Hy0
% o wgfer Tl 3 R sfere % w8 s
2

MnO; C,07- H'
(1) 16 5 2
2) 2 5 16
3 2 16 5
4 5 16 2

srfufsran & f=fefaa & @ - e s1feaw 3care
fomfor % foe sTeert 7,

Ay (g) + By (g) = X, (g)
(1) T a9 @ 3= e
(2) = am @ = g
(3) 3= MY Ud 3A g
(4) 3= qM wg = g

AH=-XkJ?

e TSR ! TRFh |Igdl I AT fohal ST 2,
@ I wife afufsran & fou s1ed-ommy

(1) 3 grar @

(2) 83

(3) o 2 2

(4) oaRafdd Td B

Xy, Yo 3R XY I 1wy foRioH SHieti & Tum
1:05:1 8 | XY & fwa i e
AH = — 200 kJ mol™! & | X, & 31mae @ i
gt

(1) 200 kJ mol ™!

(2) 100 kJ mol !

(3) 800 kJ mol !

(4) 400 kJ mol !

eyt g rieRtor # e Ui ‘o’ Gefud @

(1) g et & o cd |

(2) 79 3Rl & A |

(3) | 3vpetl & Hey Iufeyd fagq-a9 @

(4) 79 3T &% ALY RNV Tl

29.

30.

31.

32.

33.

For the redox reaction
MnO; +Cy0%” + H'—— Mn®" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07~ H'
1 16 5 2
2 2 5 16
3 2 16 5
@ 5 16 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay(@) +By(@=X5(g) AH=-XkJ?

(1) Low temperature and high pressure
(2) Low temperature and low pressure
(3) High temperature and high pressure

(4) High temperature and low pressure

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1) 1is halved
(2) 1is doubled
(3) istripled

(4) remains unchanged

The bond dissociation energies of X,, Y, and XY
are in the ratio of 1: 0-5 : 1. AH for the formation
of XY is — 200 kJ mol™l. The bond dissociation
energy of X, will be

(1) 200 kJ mol™*
(2) 100 kJ mol*
(3) 800 kJ mol*
(4) 400 kJ mol*

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1) density of the gas molecules
(2) volume of the gas molecules

(3) electric field present between the gas
molecules

(4) forces of attraction between the gas
molecules
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34.

35.

36.

37.

NH,, H,, O, @21 CO, * fou aret =meq feere
HAM: 4-17, 0-244, 136 TS 359 feu wuw ¥ |
fFrafafaa @ @ -2 g g8 a9 gfad g8 S
77

(1) NH;

2 H,

(3) O,

4) CO,

Frafafea foe@mi 1 NaOH wa HCL i fim-fig
Hrgarall T TG o s & s=mEm = R

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mL E NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

394 O fohgent pH, 1% SUsT 81 2
(1) b

(2) a

3) d
4) c
BaSO, #1 298 K W 5a # faerar 2-42 x 1073 gL ™!
@ | forctd e (K ) <t A §iT

(fean T 8 BaSO,, 1 AIeR e99H = 233 g mol 1)
(1) 1:08x 10 mol? .2

(2) 108 x 102 mol? L2

(3) 108 x 104 mol? 1.2

(4) 1-08x 108 mol2 L2

frafafgs & @ #9-8 70 W A At Thed &
ol st 8 2

(1) <hael AT o SATEI IRATIT T

(2) had ITEH & HTHR T

(3) 3TRH o & gRHT Tg ey fug @Al ©
(4) HId A & A& g |

34.

35.

36.

37.

Given van der Waals constant for NH3, H,, O,
and CO, are respectively 4-17, 0-244, 1-36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) NHj4

(2) H,

(3) Og

(4) COq

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60 mL E HCI + 40 mL M NaOH
10 10

b. 55 mL E HCI + 45 mL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?

1 b

(2) a

3 d

4) ¢

The solubility of BaSO, in water is
2:42x 102 gL' at 298 K. The value of its
solubility product (Ksp) will be

(Given molar mass of BaSO, =233 g mol_l)

(1) 108x 1071 mol® L2
(2) 108x 102 mol® L2
(3) 108x 10 * mol®> L2
(4) 108x10°mol2L2

On which of the following properties does the
coagulating power of an ion depend ?

(1) The magnitude of the charge on the ion
alone

(2) Size of the ion alone

(3) Both magnitude and sign of the charge on
the ion

(4) The sign of charge on the ion alone
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38.

39.

40.

41.

vom e wa feda shife srfufsranatt § wdt fafimar @

(1) vum wife &t Affspan w1 o sifiers 6t
arzaelt w fal 78 w3 fidfw e i
Al o1 a1 SAferRes 1 drgaret W At
1 &

(2) 9¥| =Hife ht Srffspan 1 -3y [A] ) W
TEl 7; Todi =ife i srfufsran 6 sred-amy (A]
oz faeft B

(3) 9| wife h Ml 1 3ifa fomam S dehar
2, e #ife B arfuferen o1 s 781 fomem
T 8

(4) vem wife Y rfufspn w1 A Afveres Hi
grgarant W R sar B; fedlw ife i arfufsen
T 7 IR I Frgared | T8 wan
3

= few U @ H, s A AT sTETen §
Tiad fafie .91, s (emf) T WX S0 TR
1-82V 15V

—

BrO, BrO; ——> HBrO
Br <Toeszv B2 “T1sosv
H-H TS ST & T 8 2
(1) BrO;
(2) BrO,
(3) Bry
(4) HBrO

fopa fearfa & STat 3 arupedt it T stfrsar 2 2

(1) 18 mL < & foru

(2) 018 g9t & faQ

(3) 1atmTd 273 KW 0-00224 L 3 a9 & g
(4) 10730 5 & fow

CaH,, BeH,, BaH,, ¥ 3™ Y&fd &l 54 o

(1) BeH, < CaH, < BaH,

(2) CaH, < BeH, < BaH,

(3) BeH, < BaH, < CaH,

(4) BaH, < BeH, < CaH,

38.

39.

40.

41.

The correct difference between first- and

second-order reactions is that

(1) the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(2) the half-life of a first-order reaction does not
depend on [A]l,; the halflife of a

second-order reaction does depend on [A]

(3) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

(4) the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

Consider the change in oxidation state of
Bromine corresponding to different emf values as
shown in the diagram below :

- 182V - 15V
BrOy — BrO3 —— HBrO

Br

«— B
10652V 2 1595V

Then the species undergoing disproportionation
is

(1) Bro;
(2) Bro;
(3) Bry

(4) HBroO

In which case is the number of molecules of water
maximum ?

(1) 18 mL of water
(2) 0-18 g of water

(3) 0-00224 L of water vapours at 1 atm and
273 K

(4) 1072 mol of water
Among CaHl,, BeH,, Bal,, the order of ionic

character is
(1) BeH, < CaHy < BaH,y

(2) CaHy <BeHy < BaH,
(3) BeH, < BaH, < CaH,y
(4) BaHj <BeH, < CaHy
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42.

43.

44.

45.

TifIEm T o (X) ¥ fufsk e T e
Aqffes sm@r B 1 A (X)) w1 Fmam oewem #
3@?{7‘&@%7&1'{1 152 2g2 2p3%,?ﬁ3'€-f?ﬁ'ﬁ'ﬁ?ﬂ
T g7 7

(1) MgyXy
2 MgX,
(3) MgyX
(4) MggX,

T 1 HA & A9 T bee T BT 8 | 900°C
IR I fec TEAT | IR 81 AT 8 | TR o HA
% 9 W Ted T 900°C A9 W Hed | 3TUTd &R
(W RIT ST 1 AR GeaHH Td AT s ar
% @y fer §)

V3
® =

43
3v2
3V3
42

1
(4) 3

FrfaRad wiefis = foem AT
CN*,CN~,NO da1 CN

T A forad S=au ey Hife 7 2

(1) NO

(2) CN~

(3) CN*

(4) CN

Frafafaa @ @ ®H-01 w9 F@eT B 2

(1) ‘¢ & H FoIdg 1 HoA Heh BV FAT
I % R |

(2) T HeTh o Fared geaet & fiféy 3 w=fe
Th T H Ush gEg W FeieH HEds o
fffz 2

(3) N UTHI] Sl Soiaeii—eh fo=rmd
1s2 2s2 2p)1( 2p}1, 2pi

N L
@ d2 % U ms aH = #

(2)

3

2

42.

43.

44.

45.

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 15 252 2p3, the simplest
formula for this compound is

(1) MgyXy
(2) MgX,
(3) MgyX
(4) MggX,

Iron exhibits bee structure at room temperature.
Above 900°C, it transforms to fcec structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

J3

1) X2
(D N

43
3v2

3V3
442
1

4) 0

(2)

6))

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) NO
(2) CN~
(3) CN*¥
(4) CN

Which one is a wrong statement ?

(1) Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

(2) An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

(8) The electronic configuration of N atom is
1s2 2s2 2p)1( 2p; Zp;

o LY

(4) The value of m for dZ 9 1s zero.
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46. Gl ! SEC W & fIU 90 -8 gHH Fifad

47.

48.

49.

HTAT 7 ?

(1) hCG, hPL, YSiEieH, Tetfaed

(2) hCG, hPL, T, f@fem, stiferaeifam
(3) hCG, hPL, IS, TESH

(4) hCG, INENH, TENH, '('LdolchTré*Tss

TR ‘T’

(1) TS § TEISH UTEl hl Ta%g hidl & Td 3Te
o TYUT h! bl B |

(2) wieredl H UESH i Higdl I wordl B T
JFEiedT i Ushd! ® |

(3) THIUDR |
(4) TH TE-AYT THARIEH 7 |

IHIUSHH T Yo (Tfifeer) & o1 ot B 2

(1) YHOSH H YHIE T &, Sk oo |
IRIY] S & |

(2) YhUSHA H L1 S E, el LA H
RIS 5 & |

(3) IEAISEA W YGRS 1 HIicl IR |
Wehors Afrhie 1 it # AEA B R,
Sfeh YhTE H Yh1Y] S # |

(4) YhUEEA H LRI S §, Vel LA A
GRS HT WIS hIRERIRT H IEheh
Afcrehtat <t Tfgeht § WM BT © |

TR o1 1 yYurETe g Sea foped Sl @ 2
(1) Teica= Td HEgE
(2) ITdEcaEl Td HEISHER

(3) HEISHER TS YINehieh

(4) ST T SdEcadl

46.

47.

48.

49.

Hormones secreted by the placenta to maintain

pregnancy are

(1) hCG, hPL, progestogens, prolactin

(2) hCG, hPL, estrogens, relaxin, oxytocin
(3) hCG, hPL, progestogens, estrogens

(4) hCG, progestogens, estrogens,
glucocorticoids

The contraceptive ‘SAHELT

(1) blocks estrogen receptors in the uterus,
preventing eggs from getting implanted.

(2) increases the concentration of estrogen and
prevents ovulation in females.

(3) 1isan IUD.

(4) 1is a post-coital contraceptive.

The difference between spermiogenesis and

spermiation is

(1) In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are

formed.

(2) In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.
(3) In spermiogenesis spermatozoa from sertoli
into the
seminiferous tubules, while in spermiation

cells are released cavity of

spermatozoa are formed.

(4) In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are

released from sertoli cells into the cavity of
seminiferous tubules.

The amnion of mammalian embryo is derived
from

(1) ectoderm and mesoderm

(2) endoderm and mesoderm

(3) mesoderm and trophoblast

(4) ectoderm and endoderm
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50.

51.

52.

53.

54.

T o1 I Tedl g3 e J

(1) SAYd afse Sew safseai & 1f¥re 8d € |

(2) AW s FHHIR SAfseai & 9 2d 7 |

(3) SFEW TWH SHMYE e W@ H OSUeR '
g |

(4) g =Afse Fem safeest & %A 8§ |

frefafad § @ wF-1 Srere™ we § g7 e ?

(1) F-Sg F%H qeh

(2) ufed IqaH
(3) IHHfds ITH
(4) 9 d®

freafafga 9 9 fufercar fogm 8§ ufesifas & Icaea &
foq gufee 1 HH-f Jreais R sga wm H
STt & 2

(1) @yt

(2) EEIHIT

(3) wRSHferan

(4) sy

“Tep” ATk g Ut WY o foRE 9T @ TS BT R 2
(1) Fi @

(2) WAeHH
(3) i d
(4) ufe=i @

ey 18 & 7S 9el o1 ward 11 9el § faam il
3t fiw few U fahedt @ ¥ &gt foahew &1 WA
i

&y [ &y I1

a.  gam i. UV-B fafero

b. &fel defra i, e

c. Teurua (v saEedm) il W Tfg

d. 3@ Ed iv. 3afime fuem
a b c d

(1) i i iii iv

2) i iii iv ii

(3) i iv i ii

4) i ii iv iii

50.

51.

52.

53.

54.

In a growing population of a country,

(1) pre-reproductive individuals are more than
the reproductive individuals.

(2) reproductive individuals are less than the
post-reproductive individuals.

(3) reproductive and pre-reproductive
individuals are equal in number.

(4) pre-reproductive individuals are less than
the reproductive individuals.

All of the following are included in ‘Ex-situ
conservation’ except

(1) Wildlife safari parks
(2) Sacred groves

(3) Botanical gardens
(4) Seed banks

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(1) Commensalism
(2) Mutualism
(3) Parasitism

(4) Amensalism

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Flowers

(2) Latex
(3) Roots
(4) Leaves

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I
a.  Eutrophication i. UV-B radiation
b.  Sanitary landfill ii. Deforestation
Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
(1) i i iii iv
2) 1 iii iv ii
(3) iii iv i ii
4 i ii iv iii
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55.

56.

57.

58.

frafafaa @ @ s J6t Hifvend sy ' 3
T3 § Wgg hidl & ?

(1) T Hifdepnd

(2) TOTSHT SHIRTHIT

(3) A (Mecie) HITIHIT

(4) fixfi Sifsrenrd

ey 18 &) 78 9e o ward 11 1 9e & fiam hifse
IR = few MU fowmewt @ @ @E? famew w1 =

HIT

Lary [ ey I1

a.  WIEfSANE i qUEelt @qe

b. TAGRH ii. T o

c Qv_{ﬁﬂ iii.  wfceen fsanfafe
a b c

(1) iii ii i

(2 i ii iii

3 i iii ii

(4) ii iii i

hehTel URf Hepad | hicWam Haw@qul & Hifh I8

(1) T O et UFeT o \fsha T & 3TmeRw
%! 81 2T & AR & foQ |

(2) wArEnfE TS & ot 38 fshamefier st B |
(3) Uffea dq & Afem St w1 o7erm T 2ar R |

(4) WA E ¥ R Ufded 99 % wed ey
famfor =67 rehet 2

fafafad § 9 saaaiRies yau7 faer &1 3w =
22

1) wafeE
(2) Taferermar
(3) digfasn
(4) FaEhId

55.

56.

57.

58.

Which of the following gastric cells indirectly
help in erythropoiesis ?

(1) Chief cells

(2) Mucous cells

(3) Goblet cells

(4) Parietal cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column 1 Column I1

a. Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

(1) il ii i

(2) i ii iii

3) i iii ii

(4) ii iii i

Calcium is important in skeletal muscle

contraction because it

(1) Dbinds to troponin to remove the masking of
active sites on actin for myosin.

(2) activates the myosin ATPase by binding to
it.

(3) detaches the myosin head from the actin
filament.

(4) prevents the formation of bonds between
the myosin cross bridges and the actin
filament.

Which
respiratory disorder ?
(1) Anthracis
(2) Silicosis

of the following is an occupational

(3) Botulism
(4) Emphysema
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59. fafetugm o= @i e ¥ forg yohr o= 8 2 59. Ciliates differ from all other protozoans in
(1) 3 799 o TIU Herfirent 1 930 i & (1) using flagella for locomotion
(2) 3 Afafed gt i Fepee & fog L EENI] (2) having a contractile vacuole for removing
gl Bt excess water
(3) A RN & Yshed % U qrETy 1 T S 8 (3) using pseudopodia for capturing prey
(4) T 2 YHR % Hgh B & (4) having two types of nuclei
60. Trefifigd § ¥ R erv T iR I Tg=H qe 60. Which of the following features is used to identify
ST a male cockroach from a female cockroach ?
(1) Presence of a boat shaped sternum on the
(1) 1 3@ g W AH %k AHA HI IS K 9" abdominal segment
Safeafa (2) Presence of caudal styles
(2) U= I HI ufeafd (3) Forewings with darker tegmina
(3) & AR 3=HE afed 3 UG (4) Presence of anal cerci
(4) T i 3ufefd 61. Which of the following organisms are known as
] - chief producers in the oceans ?
61. ﬁmﬁﬁ'\@?l H ﬁaﬁq_ﬁ Sffa TR g S % (1) Dinoflagellates
A S S E 2 (2) Diatoms
1 b (3) Cyanobacteria
2) s (4) Euglenoids
(3) WA
(4) zggﬁm—c{a 62. Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
62. HTH THE h I Fqell hI TgEE HAT S T system.
9rE 99 | 9 e e g stfyafaa 2 (1) Amphibia
(1) fewfeE (2) Reptilia
(@) YRR (3) Aves
(3) wde (4) Osteichthyes
(4) oAffecaefst 63. Which of the following animals does not undergo
metamorphosis ?
63. Tmfafad Sqefi # & SF-8 g SR 737 4 ? (1) Earthworm
(1) a"@@” (2) Tunicate
(2) e (3) Moth
(3) wiy (4) Starfish
(4) TeRE , ,
64. Which one of these animals is not a
64. Frafafad § & SH-a1 =g Tt 787 2 2 homeotherm ?
(1) dpivg (1) Macropus
©2) @i (2) Chelone
(3) FHag (3) Camelus
(4) @?3’?7 (4) Psittacula
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65.

66.

67.

68.

69.

70.

I HIATHI h UUE h! JEH HEAT T GHEAT
ferrehT 3eTEA B ?

(1)  HHSITdT

(2) oaEdal

(3) AfET o

(4) 3Fgepait faferto

fre T H HesX g W= TAMY] o HRUT oTEeRT
g o Tereprell SNy Icqd BT 8 2

(1) uferpfeufm

(2) uEsifaE

(3) forad

(4) srhfatfim

39 % T OH AR W TEhH TS| UNH AT
forehl gfg o RO B B 2

(1) faerfim D

2) faarfm A

(3) faafm By,

(4) faaftm E

Frafafea sfvaern & & -8 777 4 Sfem i i
9T’ Sl gWd 8 2

TTferaT

RRERIEGI

EREKI]

31qut gl

CESIEIENIUIT

(1) b,cWe

(2) a,bWec

(3) b,dTd e

(4) a,c@ie

frefaftga & 9 sH-a1 Taufawen o 7577 8 2
(1) arfefim

(2) ®HS Aty

(3) USATTEHL UT
(4) fafefem

Fr=feifiga semtt fam@ & 3Iereen § ¥ 7e7d faseq
T FI HINT :

(1) HHd, THTES T =idl o WU

(2) =WIEE, HME Td <idl ol g

(3) <HIEE, A T <idl ol HiETsh

(4) ATFIUH, THATCE Ud HH i AG

P a0 T

65.

66.

67.

68.

69.

70.

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1) Homology

(2)  Analogy

(3) Convergent evolution

(4) Adaptive radiation

In which disease does mosquito transmitted

pathogen cause chronic inflammation of
lymphatic vessels ?

(1) Elephantiasis

(2) Ascariasis

(3) Ringworm disease
(4) Amoebiasis

Conversion of milk to curd improves its
nutritional value by increasing the amount of

(1) Vitamin D
(2) Vitamin A
(3) Vitamin By,

(4) Vitamin E

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

a. Dominance

b Co-dominance

c Multiple allele

d. Incomplete dominance

e

. Polygenic inheritance
(1) b,cande

(2) a,bandc
(3) b,dande

(4) a,cande

Which of the following is not an autoimmune
disease ?

(1) Psoriasis

(2) Rheumatoid arthritis

(8) Alzheimer’s disease

(4) Vitiligo

Among the following sets of examples for
divergent evolution, select the incorrect option :
(1) Forelimbs of man, bat and cheetah

(2) Heart of bat, man and cheetah

(3) Brain of bat, man and cheetah

(4) Eye of octopus, bat and man
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71.

72.

ey 1 1 € TS 9e o1 wqw 11 6 me) § fem iR
IR f= few MU fowmedi & @ @E? fasey w1 T

I -
Lary [

a. ’E’Bﬂﬁ'ﬂﬁm 1.

Ty I1
et | Ffeh I
HIE B

b. T ii. g 4 foreefcra @@l &
fiug
c. gFhE g iii. =1 H TgEehdT

iv. T3 H To[hIE &1 BT

a b c d
(1) i ii iv i
(2) i ii iii iv
(3) ii iii i iv
4) iv i ii iii

ey 1 8 &) 78 9e o1 &qwv 11 6 wa) 9 frer Shife
3t fiw few U fahedt @ ¥ &gt foaew &1 WA
i

TTFy [
(F7)

a. offoged Fered i
b. T 1 HGW ii.

Ty 11
(3cGS7 T BT HIT)

T T
TaTteft

c. TIAH AWHEA il TR
d. TF H EHEU iv. Herdift shfvreht
v. oHioey gafad afere
a b c d
1 v v ii iii
(2) iv i ii iii
3) v iv i ii
4) v iv i iii

71.

72.

Match the items given in Column I with those in
Column II and select the correct option given

below :
Column I Column I
a.  Glycosuria i. Accumulation of uric
acid in joints
b. Gout ii. Mass of crystallised
salts within the kidney
c. Renalcalculi iii. Inflammation in
glomeruli
d. Glomerular iv. Presence of glucose in
nephritis urine
a b c d
(1) i ii iv i
2 1 ii iii iv
3 i iii i iv
4) iv i ii iii

Match the items given in Column I with those in

Column IT and select the correct option given

below :
Column I Column II
(Function) (Part of Excretory
System,)
a.  Ultrafiltration i. Henle’s loop
b. Concentration ii. Ureter
of urine
c.  Transport of iii. Urinary bladder
urine
d. Storage of urine iv. Malpighian
corpuscle
v. Proximal
convoluted tubule
a b c d
(1) v v i iii
(2) iv i i iii
3) v iv i i1
4) v iv i 1ii
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73.

74.

75.

76.

7.

78.

et % fuvs gera: foress a4 310 8 2
(1) WA v fafreg

(2) DNATE RNA

(3) fFct 3 g SER

(4) Y& TsaE™ Ud RER

frafafga & @ -8 witnfys wee aHa dafa=mm
! I Hid & ?

(1) g, fgamedt, smgdt

(2) g, fgamEd, fawmed

(3) TG, TheRGEH!, SHG!

(4) drEEcd, fgemed, fomwedt

Sgd ¥ TEHEH ThH mRNA & Heg gkl Tham
Uifetucergs i &g Uil S0 & | TsaEg S uE
STGETST I FAT FHEd 7 ?

1) w5

(2) wEa fiug

(3) TomfEcE™

(4) hfgem

TH § HH-A1 HIH TAT & ?

(1) TCA =5k % UHATSH FARORN o oaE] H feua
AR |

(2) TARHIAYE HifTerTiaed § T4 Bdl B |

(3) TARHITAHE T % BN & 59 a% 39 FESSH
AT ST 33M % foty NAD firerdn & 2 |

(4) STioefieofl  IEHINGiRTor  FEehUleht I aTal
ferght & =fea gran @ |

% USTfsHs e (RER) ¥ ffafea & @
HH-H T 7T Bt ?

(1) EH T g

(2) T T TATSHIHAIA

(3) Hehd UCISS T fage

(4) wiEpIfafie dzayo

e T =1 == Hifw

(1) <dugw R - fgue % ed
(2) TEm — fomm o

(3) IuHEAhY R — L-3ThRI TR
(4) ¥EUEE A — UEHfREl % I

73.

74.

75.

76.

717.

78.

Nissl bodies are mainly composed of
(1) Proteins and lipids

(2) DNA and RNA

(83) Nucleic acids and SER

(4) Free ribosomes and RER

Which of the following terms describe human
dentition ?

(1) Thecodont, Diphyodont, Homodont

(2) Thecodont, Diphyodont, Heterodont

(3) Pleurodont, Monophyodont, Homodont

(4) Pleurodont, Diphyodont, Heterodont

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide

simultaneously. Such strings of ribosomes are
termed as

(1) Polysome
(2)  Polyhedral bodies
(3) Plastidome

(4) Nucleosome

Which of these statements is incorrect ?

(1) Enzymes of TCA cycle are present in
mitochondrial matrix.

(2)  Glycolysis occurs in cytosol.

(38) Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

(4) Oxidative phosphorylation takes place in
outer mitochondrial membrane.

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1) Protein folding

(2) Protein glycosylation

(8) Cleavage of signal peptide
(4) Phospholipid synthesis

Select the incorrect match :

(1) Lampbrush
chromosomes

(2) Allosomes

(8) Submetacentric
chromosomes

(4) Polytene
chromosomes

Diplotene bivalents

Sex chromosomes

L-shaped chromososmes

Oocytes of amphibians
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79.

80.

81.

82.

83.

T T HIF-HT U 1 I 7gT 8 2
(1) 9«1

(2) ETEATCHS S(H

(3) TR

(4) AR

T Tl % Tk X URH § X-HehH IFE 7 | Ig [URH
fopil ST g 2

(1) <had ghRl |

(2) had G G

(3) haet TraT-gifer /Areft-Afe d

(4) i ud gRRIT gl

[ # € E wel 1 TR 11 < 7l @ e hifse
3 = fau U fosmedi § @ &g fawew 1 WA
Hifo

&y I Ty 11
a.  SYUGHId UEEAT i, TYTIR 7% o foere
b. @l gTEE ii. geehr STewen
c. RgEE iii. drafyus graEer
a b c
(1) i ii i
2 i iii ii
(3) ii iii i
(4) iii i ii

M & i & sgEr fowm i frafafy fra yr
&It & 2

(1) SFROT Seaiaaq

(2) deeIH

(3) <ifireh gva T& gitada (Sreorsed} fafirear)
(4) g IcafEd

T 9 F HIET T HT FF AGGTATCGCAT 2 |

3Hh g 3TIRad mRNA 1 Heferd shH &1 8T ?
(1) AGGUAUCGCAU
(2) UGGTUTCGCAT
(3) ACCUAUGCGAU
(4) UCCAUAGCGUA

79.

80.

81.

82.

83.

All of the following are part of an operon except
(1) an operator

(2) structural genes

(3) an enhancer

(4) a promoter

A woman has an X-linked condition on one of her

X chromosomes. This chromosome can be

inherited by

(1)  Only daughters

(2) Only sons

(3)  Only grandchildren

(4) Both sons and daughters

Match the items given in Column I with those in
Column IT and select the correct option given
below :

Column 1 Column II

a. Proliferative Phase i. Breakdown of

endometrial
lining

b.  Secretory Phase ii. Follicular Phase

c.  Menstruation iii. Luteal Phase

a b c

(1) il ii i

(2) i iii ii

3) i iii i

(4) iii i ii

According to Hugo de Vries, the mechanism of
evolution is

(1) Multiple step mutations

(2) Saltation

(3) Phenotypic variations

(4) Minor mutations

AGGTATCGCAT is a sequence from the coding

strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(1) AGGUAUCGCAU
(2) UGGTUTCGCAT
(3) ACCUAUGCGAU
(4) UCCAUAGCGUA
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84.

85.

86.

87.

fferfaa & @ wi-an g Wi sret 8 ogeqs g
27

(1) TUEshH
(2) UHSTEEN
(3) wEIfeATA
(4) TufEgstia

frefafea @ @ S T ter &9 3T S 4@
77T &9 9 Ifa g ?

(D

: 3999 Ud ge¥ qiE= giteat
w1 fafa e )

: g3 o & S Aieash &
faftm &= = 1w 4§ Sied
8, 7 w1 FrEor s |

: Towiem gfHET o1 3eated T
ATEH, G AT A T
T & |

: oW Ud e YHfEdSE Mt
1 e I dqedi < g |

AT ATSANIT

2) fafas o=

HRIESEE

3

4)

fefafea & @ frm g f fegia § ge
oftrehT B ?

(1) UeSEeH Td STt
(2) TINEA T Veeieelq
(3) UEISH U UUATSSS &AM
(4) UUATEES BHA Td Hreifae

AFa 99 § yres d9 fhEes g oY T W GEdl

3?

(1) 9&aY %1 | Je TN g

(2) o & g3 e g

(3) ot A i faeh At gro
(4) vEmY HE ¥ I okt afe g

84.

85.

86.

87.

Which of the following is an amino acid derived

hormone ?

(1) Epinephrine
(2) Ecdysone

(3) Estradiol

(4) Estriol

Which of the following structures or regions is
incorrectly paired with its function ?

(1) Medulla oblongata : controls respiration
and cardiovascular

reflexes.

(2) consists of fibre
tracts that
interconnect
different regions of
brain; controls

movement.

Limbic system

(3) Hypothalamus production of
releasing hormones
and regulation of
temperature,

hunger and thirst.

(4) band of fibers
connecting left and
right cerebral

hemispheres.

Corpus callosum

Which of the following hormones can play a
significant role in osteoporosis ?

(1) Aldosterone and Prolactin

(2) Progesterone and Aldosterone

(3) Estrogen and Parathyroid hormone
(4) Parathyroid hormone and Prolactin

The transparent lens in the human eye is held in
its place by

(1) ligaments attached to the ciliary body

(2) ligaments attached to the iris

(3) smooth muscles attached to the iris

(4) smooth muscles attached to the ciliary body
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88.

89.

90.

frefaftaa § 9 -8 fashed e eaT 3R araehifa
T %hel hl e ! 3 T G eriar B 2
(1) a4 M, Tl gdg | HH

(2) voEfeT hI HEI § ftehdr; v Hag H
Sferehdn

(3) YaG! Tag | ATerehdT; Ya@-ehT T Iy
(4) va&d gag | oY TaEes § Wy

ey 18 &) 78 9e o w11 1 9e 8 faam hifs
s =9 feu U foswmedi & @ @E Oy w1 ==

T

T 1 Eary 11
a. oo suae i, < 3rfere W W e
% o=
b. o wuwe ii. e e e g
gt & o=
c. AT HURH  iii.  erfed sfere W arfe
fem & =
a b c
(1) 11 i 11
2 1 11l 11
3 1 11 i1
4) 1 i i1

ey 18 &) 78 Hel o1 Ty 11 h 9e 8 firem fifvg
3t fiw few U fashedt @ ¥ &gt foaew &1 WA
Hif

&y [
a. AR A i.

b. JawEEd giEa i

TEy Il
2500 — 3000 . <.
1100 — 1200 fir.=f.

AT

c. Trvama gdfem iii. 500 — 550 fr. <.
CIDGES

d. 3rafyre e iv. 1000 — 1100 fir.&ft.
a b c d

(1) i ii i iv

(2) iii i iv ii

(3) i iv ii iii

4) iv iii ii i

88.

89.

90.

Which of the following options correctly
represents the lung conditions in asthma and
emphysema, respectively ?

(1) Inflammation of bronchioles; Decreased

respiratory surface

(2) Increased number of bronchioles; Increased
respiratory surface

(8) Increased respiratory surface;

Inflammation of bronchioles

(4) Decreased respiratory
Inflammation of bronchioles

surface;

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column II

Between left atrium
and left ventricle

Column I

a. Tricuspid valve 1.

b.  Bicuspid valve ii. Between right
ventricle and

pulmonary artery

c¢.  Semilunar valve iii. Between right
atrium and right
ventricle

a b c

(1) i i ii

2 1 iii ii

3 i ii iii

4) i i iii

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I1

a. Tidal volume i. 2500 — 3000 mL

b. Inspiratory Reserve  ii. 1100 - 1200 mL
volume

c. Expiratory Reserve iii. 500 — 550 mL
volume

d. Residual volume iv. 1000 — 1100 mL

a b c d
(1) iii ii i iv
(2) i i iv ii
3 i iv ii iii
4) iv iii ii i
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91.

92.

93.

94.

95.

96.

97.

Feudt gfgat el gt 8 ?
(1) Terca=t
(2) iy

(3) dePp
(4) SA=qEcaE

I8 UTed -8 7 T e glg oidt an foegpa &

et ?

(1) =™

(2) T TSt

(3) gyl

(4) Wghed

v fore Bt § 2

(1) e |

(2) TEAA-3CAES AAgug §

(3) wWiETER wigat |

(4) omH Segig §

SeRTehe TohEeRT FT-RUT 3 2

(1) <

(2) sTaETie qa

(3) HE qA

(4) ke

fgatoroet o 4 fgeftaes Ssem 3R weien fored 3o

B8 ?

(1) fiey faasen

(2) Hered Tl

(3) ThIATSH

(4) whefta favsan

Fr=fefiga @ @ wF-a1 %9 &g ® 2

(1) SHEaeiEl #§ seme sver fufa gr aieg
& B |

(2) [fFefoder UH  foudelemy aenm g, @ik
o7 T THESTY] Il 7 |

(3) TiEee™ IFFasiS 7 |

(4) TrEHE AN [Fgg T T FIEROGET 99 AR
B 2 |

AT HIA I AT ;

(1) haehl 3R YW TTd o HgEAl § whifsen fafd
Jufeerd gt 7 |

(2) Bl P TrY SRS T 7 |

(3) TANISHSHI # g JeH 3R @ra T80 A i
HEEAM ¢ |

(4) THT ® BrgR aft sl h wifvee |
FFARTRIC Teh WS & |

91.

92.

93.

94.

95.

96.

97.

Casparian strips occur in
(1) Epidermis

(2) Pericycle

(3) Cortex

(4) Endodermis

Plants having little or no secondary growth are
(1) Grasses

(2) Deciduous angiosperms

(3) Conifers

(4) Cycads

Pneumatophores occur in

(1) Halophytes

(2) Free-floating hydrophytes
(3) Carnivorous plants

(4) Submerged hydrophytes

Sweet potato is a modified
(1) Stem

(2) Adventitious root

(3) Tap root

(4) Rhizome

Secondary xylem and phloem in dicot stem are
produced by

(1) Apical meristems

(2) Vascular cambium
(3) Phellogen

(4) Axillary meristems

Which of the following statements is correct ?

(1) Ovules are not enclosed by ovary wall in
gymnosperms.

(2) Selaginella is heterosporous, while Salvinia
is homosporous.

(3) Horsetails are gymnosperms.

(4) Stems are usually unbranched in both
Cycas and Cedrus.

Select the wrong statement :

(1) Cell wall is present in members of Fungi
and Plantae.

(2) Mushrooms belong to Basidiomycetes.
(3) Pseudopodia are locomotory and feeding
structures in Sporozoans.

(4) Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.
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98. Tr I § <} 7S Al o1 &a¥ 11 <l #el 9 fyem Shifse

99.

IR = for o faswedt & @ @t faswew &1 =
T

&awy [ &aryy I1
a. UQUEE i Od uTeut R g %
TR T Th TN |
b. el i, e ° Ui g |eft s
1 fafergeeh UM Td T 3R
3ThT = Shi FIHAT % fow
e 9 id §T T I |
c. TURE il UM €W @l 9IeY Tl i
@t 3 TR T T
AR T TG AT 8 |
d. duE  iv. e Y S s g
(SheTeAt™) 3R 37 foehed B & S
fafirm afent <t vgem & o
TEH 2d 3 |
a b c d
1 i iv i i
2 i i i iv
(3) i iv i i
(4) i iv i ii
guel WTehvT fered g 8 2
(1) @l
(2) GEHhyg
(3) ™
(4) 957H
100. fr=fafea & @ frad SFrghaeaa qen stdghfawa
% qvETq SeY] Sfesiia ®9 H 399 B 8 ?
(1) =R
(2)  TeERaT
(3) TIRwH
(4) @FHTEH T
101. fr=fafed & @ ®H-a1 7e77 &9 § goferd 8 2
(1) TUHHIMGH JUh  —  GHTAEEIT
(2) formfies =eeiam) — R e
(3) T Gt —  TERET
(4) THDINH Sfa —  FAReT

98.

99.

100.

101.

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I

It is a place having a

Column I

a. Herbarium i.
collection of preserved
plants and animals.

b. Key ii.  Alist that enumerates

methodically all the

species found in an area
with brief description

aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

d. Catalogue iv. A booklet containing a list
of characters and their
alternates which are
helpful in identification of

various taxa.

a b c d
1 i iv iii ii
(2) il ii i iv
3) ii iv iii i
(4) il iv i ii

Winged pollen grains are present in

(1) Mustard
(2) Cycas
(3) Mango
(4) Pinus

After karyogamy followed by meiosis, spores are
produced exogenously in

(1) Neurospora

(2) Alternaria

(8) Agaricus

(4)  Saccharomyces

Which one is wrongly matched ?

(1) Uniflagellate gametes — Polysiphonia
(2) Biflagellate zoospores — Brown algae
(3) Gemma cups —  Marchantia
(4)  Unicellular organism - Chlorella
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102.

103.

104.

105.

106.

107.

108.

frafafaa @ @ a1 o= SRt 4 Thifd a9
T o fog Iaeer 8 2

(1) &hfsem

(2) wifsTm

(3) urefirm

(4) Ffcwrm

Torad TeRTT-HYNl § ST 7g7 feherd! 2

(1) W9 Few ST

(2) T

(3) &FHe

4)

38y A=A = R 2

(1) TH W Tl 6§ R HA H Q) for srel
1Y HAa

Tsh T I I &1 GTd hrgehl o 1Y T
(3) I T IR I Teh 37 o 1Y T

(4) W TerA N B

frafafaa @ @ ®H-51 ey Iy 6 T S & a1
T fehe ey quitan 2, Frad g ot T-get & for
AT e =5k U1 g7 L ThaT ?

1) e

(2) ZFH7

(3) ohal

(4) argier

T HUT HT TR § N T g@ ArseeH § fe
AU W HUSHOT {3 ST Fehal B 2

(1) -120°C

(2) —80°C

(3) -196°C

(4) -160°C

HIREHR Y96 § NAD* 31 ftent 91 @ ?

(1) I§ Teh U-al1gH o &9 H & LT 7 |

(2) I T S dATeH o &9 H HE LT 2 |
(3) ggq‘ﬁ.ﬁ.mw%m@:{ﬁmﬁ?@aﬁ
|
ggmamsﬂaw%%qaﬁnsﬁﬂzﬁm
|

qTeql g I8 k1 Ay g @ @ fem w9 4
BT R ?

(1) i

(2 &

(3) Yod dd
(4) itk 3 B\ AT

(2)

(4)

102.

103.

104.

105.

106.

107.

108.

Which of the following elements is responsible for
maintaining turgor in cells ?

(1
(2)
3)
(4)
Oxygen is not produced during photosynthesis by
(1)
(2)

Magnesium
Sodium
Potassium
Calcium

Green sulphur bacteria
Nostoc
(3) Cycas
(4) Chara

Double fertilization is

(1)

Fusion of two male gametes of a pollen tube
with two different eggs

(2)

Fusion of one male gamete with two polar
nuclei

3)
4)
Which one of the following plants shows a very
close relationship with a species of moth, where

none of the two can complete its life cycle without
the other ?

(1) Hydrilla
(2)  Yucca
(3)
(4)
Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -120°C

(2) -80°C

(3) -196°C

(4) -160°C

What is the
respiration ?

(D)
(2)
3)
(4)

Fusion of two male gametes with one egg
Syngamy and triple fusion

Banana
Viola

role of NAD* in cellular
It functions as an enzyme.

It functions as an electron carrier.

It is a nucleotide source for ATP synthesis.

It is the final electron acceptor for anaerobic
respiration.

In which of the following forms is iron absorbed
by plants ?

(D)
(2)
3
4)

Ferric

Ferrous

Free element

Both ferric and ferrous
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109.

110.

111.

112.

113.

114.

115.

116.

I FESTT TORGT T JFRU fohe TTaTeT H TR

BT 7 2

(1) Ty

2) feug

(3) URCTfrshH

(4) W9

Hirges & fore fFreferfiad & @ wH-w @€ 2 2

(1) fawrfsa it wifdmemsti & @2 s g 8 |

(2) ¥ fufv 4 forr @ @ |

(3) ¥E T & H YT ol & |

(4) T8 TEEEHA RNA 3oiwel o1 fhamshial e
7

Tt wfegsy fopmd v ot 8 2

(1) 5 37 o 3=

(2) @t gieerrsti & a9

(3) Sfarupsti § vaud |

(4) AT o1 & dishgor §

frafafgs § @ F9-91 T TH-GIAN HI TR
SANTshAT T 3UTE 75T & 2

(1) ATP

(2) NADH

(3) NADPH

(4) Oxygen

et Y iasfierar ferem gwfea 757 &t 2
(1) qUH=E I

(2) THWEH

(3) O, Higal &

(4) CO, Tigar &

frafafad # & ®F-81 T qdehgeh! 787 © ?
(1) d0arsdis

(2) HIEHIGFIRTT

(8) Tieci®

(4)  ritESRET

T % 1 Afrererforen Srricas aug HH-8 8 2
(1) grsgifead i Afdra

(2) e 3R AT

(3) i 3 HiEhe

(4) wHETA R g

HTE 6 I H TY Y Bd B 2
(1) SIATRR

(2) JIhIhR

(3) IR

(4) BIAHBR

109.

110.

111.

112.

113.

114.

115.

116.

The stage during which separation of the paired
homologous chromosomes begins is

(1) Pachytene
(2) Diplotene
3)
(4)
Which of the following is true for nucleolus ?
(1)
(2)
3)
4)

Diakinesis
Zygotene

Larger nucleoli are present in dividing cells.
It is a membrane-bound structure.
It takes part in spindle formation.

It is a site for active ribosomal RNA
synthesis.

The Golgi complex participates in
(D)
(2)
(3)
(4)

Which of the following is not a product of light
reaction of photosynthesis ?

(1) ATP

(2) NADH

(3) NADPH

(4) Oxygen

Stomatal movement is not affected by
(1)
(2)
3)
4)

Which among the following is not a prokaryote ?
(1)
(2)
3)
4)
The two functional groups -characteristic of
sugars are

(1)
(2)
3)
(4)
Stomata in grass leaf are
(1) Dumb-bell shaped
(2) Kidney shaped

(3) Rectangular

4)

Fatty acid breakdown
Formation of secretory vesicles
Respiration in bacteria

Activation of amino acid

Temperature
Light
O, concentration

CO, concentration

Saccharomyces
Mycobacterium
Nostoc
Oscillatoria

hydroxyl and methyl
carbonyl and methyl
carbonyl and phosphate
carbonyl and hydroxyl

Barrel shaped
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117.

118.

119.

120.

121.

122,

123.

&g? g 1 YT :
(1) T b i i
(2) ks e I matwm - Humd.

(3) Ty BGcEH 3R . WIEd — JETT J2r3aH
(4) TherdTd Sehd qUT g WIS — I ST
ST, % THETE Siqhld H IR STH SEyem
fere gurian R o ?

(1) ®a% H

(2) Sfamy ¥

(3) Ued H

(4) forumop &

‘STpded’ fohdeh gRI IcqTed BId & ?

(1) e favee g

(2)
(3)
(4) JAFNYFHT g

fr=fefiga § 9 forad 3T Sftad s d Shdd T o1
& o B @ ?

(1) | wfisfis

(2) hegd

(3) ™

(4)  gdfar

frafafea & @ S9-a W & e % w9 A
ufaferd i 4 T Hifed g3 ?

(1) W fohe

(2) AGAH AT H=: A

(3) It e

(4) TR

frafafad § @ ®F-91 9w 7e7@ €9 ° gAfTa ® 2
(1) "L H HS &AWl :  Sgforbod!

(2) ABO W g : HESIed

(3) XO R fom fagfor . fegar

(4) A AEH Tl

g HIH I T

(1) “dgerdr’ 3eg 1 HHT0 Shehfo Teraa o foka |

(2) e ot e fafew asnfes g faspfea fopan mn
o |

TATSATETH T § W od 3 |
YIGRAY <hl @IS TH. 3feeq 3 & o |

3
(4)

117.

118.

119.

120.

121.

122.

123.

Select the correct match :

(1) Alec Jeffreys — Streptococcus
pneumoniae
(2) Alfred Hershey and - TMV
Martha Chase
(3) Matthew Meselson —  Pisum sativum
and F. Stahl

Francois Jacob and
Jacques Monod

(4)

Lac operon

The experimental proof for semiconservative
replication of DNA was first shown in a

(1) Fungus

(2) Bacterium

(3) Plant

(4) Virus

Offsets are produced by

(1) Meiotic divisions

(2) Mitotic divisions

(3) Parthenocarpy

(4) Parthenogenesis

Which of the following flowers only once in its
life-time ?

(1) Bamboo species

(2) Jackfruit

(3) Mango

(4) Papaya

Which of the following has proved helpful in
preserving pollen as fossils ?

(1) Pollenkitt

(2) Cellulosic intine

3)
4)
Which of the following pairs is
matched ?

(D

Oil content
Sporopollenin

wrongly

Starch synthesis in pea Multiple alleles

(2) ABO blood grouping Co-dominance

(3) XO type sex Grasshopper
determination

(4) T.H. Morgan Linkage

Select the correct statement :
1)
(2)

Franklin Stahl coined the term “linkage”.

Punnett square was developed by a British
scientist.

3
4)

Spliceosomes take part in translation.

Transduction was discovered by S. Altman.
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124

125.

126.

127.

128.

129.

. Uifemis @en AR (PCR) W =l 1 €&l A
R 2

(1) fowawon, fospedienton, SwieH

(2) 3o, faeawor, faehdien

(3) fTaepdietor, foeawor, swfiem

(4) Toepdietor, srfiem, foreaon

s 3T % fofu TgafieRd: ®uiaia Sfiai o
Yadd % SR § GIEAT o oA o (oI YA H hIF-A1
TS IR B 2

(1) YRR Yfde= gEyu™ uftvg (ICMR)

(2) A TE S AU TRwg (CSIR)

(3) STafR gfETe gy Afifd (RCGM)

(4) STgafe fETERh Yot |fifd (GEAC)
HHE TR § E.TA.T. & Th Ihg o HavH o g
frfafea § & F-a1 deet gmw=a: TgEd fhar S
2?
(1
(2)

LA (U9 d18iH)

Ti wTfsHs

3) rBS

(4) pBR 322

TEUSER HHE 3R wedl g fRE ow w 3Ee
@ i fomr srgefta o StewErgAi % ITFNT H R
g1 AT B ?

(1) Sa-3ged

(2) SRIETSE (S &)

(3) Ja-3Tqeed
(4) SAg-3M9Ur

U faesft wrat grn ameaa f uw 987 fhe W+ U
(wehear) Toparm o o, wrarfy O fored wia A o wHy
g foemm € | = fhae orafaq 2 2

(1) Co-667

(2) el EERT

(3) <l U

(4) STEH

T guel bl AT :
(1) TEsreTER

(2) Fy x YHTE 6
(3) A.w=. A=

(4) ft. Hew

124.

125.

126.

127.

128.

129.

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(D
(2)
3
(4)

Extension, Denaturation, Annealing
Annealing, Extension, Denaturation
Denaturation, Extension, Annealing

Denaturation, Annealing, Extension

In India, the organisation responsible for
assessing the safety of introducing genetically
modified organisms for public use is

(1) Indian Council of Medical Research (ICMR)

(2) Council for Scientific and Industrial
Research (CSIR)

(3) Research Committee on Genetic
Manipulation (RCGM)

(4) Genetic Engineering Appraisal Committee
(GEAC)

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(D
(2)
3
4)

Retrovirus
Ti plasmid
A phage
pBR 322

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(D
(2)
3
4)

Bio-infringement
Biopiracy
Biodegradation
Bioexploitation

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to
(1) Co-667

(2) Sharbati Sonora

(3) Lerma Rojo

(4) Basmati

Select the correct match :

(1) Ribozyme — Nucleic acid

(2) Fgx Recessive parent — Dihybrid cross
(3) T.H. Morgan — Transduction
(4) G. Mendel — Transformation
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130.

131.

132.

133.

134.

135.

a7 g 2

(1) e s wafaer § gt Sfas s

(2) 9% Wifae T &l Th SHagrl &ar @

(3) TUHM W 98 Y S S W T & o
Bl

(4) TH Sa grr v T SRt ffie, S 98

a1 2
frfafed 3 @ ®F- w s 9w 2 2
1) CO
(2) CO,
(3) SO,
(4) Og
Fefadt & o Srfuma B 2
(1) FIL
(2) =L
(3) AT i Bigd A AT hl T
(4) U @™ T fecdi o AW arell ht TE
forva 3o feaw e T STaT B 2
(1) 53
(2) 21 373
(3) 16 faarsr
(4) 22373
Frafafga stiest & form g o1 witfeafadm ftfis
e ek ST 2
foeffore Susierar : 120 g
i UM : 60 g
1R 3cUeh : 10 g
(1) Sum 1 3o s
2) St w1 e
(3) w1 e fitfre
(4) Saum 1 diur fifre

THaIEed W, fH % fashdiewr e smfvaes
e i fegfrd & frefafes & @ eF-a o=
3ATH o TG H HE KT R 2

(1) A

2 Qa

(3) Fe

(4) ST

130.

131.

132.

133.

134.

135.

Niche is
@}

all the biological factors in the organism’s
environment

(2)
3

the physical space where an organism lives

the range of temperature that the organism
needs to live

(4)

the functional role played by the organism
where it lives

Which of the following is a secondary pollutant ?
(1 CO

(2) COgq

(3) SOgq

(4) Og

Natality refers to

(1) Death rate

(2) Birth rate

(3) Number of individuals leaving the habitat
(4) Number of individuals entering a habitat
World Ozone Day is celebrated on

(D)
(2)
(3)

(4)

What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g

5% June
215t April
16t September

gond April

Primary consumer : 60 g
Primary producer : 10 g
(D
(2)
(3)
4)

Inverted pyramid of biomass
Pyramid of energy

Upright pyramid of numbers
Upright pyramid of biomass

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(D
(2)
3
(4)

Carbon
Cl
Fe
Oxygen
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136.

137.

138.

139.

0-5 kg m™! ¥fd 31 Trams geome i foelt g <t
afast T8 # T Faehd TMa o W S &Afes & 30°
T IV SHTGT 7, T T 2 | 36 B I 380 fIgq
€T JaTed hieht e Hlehd 8l a1 ST e 36 W
0-25 T ST %1 Frehid &7 Heatar foem § sl =t @
2 | D8 I for we & fau s yerfga a2

(L 714A

(2) 598A

(3) 1476 A

(4) 1132A

foreht forega-gress & yai & st fagresh gared i
T Tdch 98 HeArR v 7 | 99 fogd-grees § 9/
JaTEd 1 ST &, q1 98 B &fds Freehid & ¥ aTel
FH HI 3N gt & A 8 | 38 ThR I8 B Tocd
feufas ol wed el 2 | UH R * Y e
H1 HAT B

(1) fogd @
(2) TR &
(3) e & g hl ATcteh T=HT

(4) i foe@-89 1 for wftedt grasdm & @ 3=
a1 8

20 mH ST s Ih, 100 pF 1 I TS q9T 50 Q
=1 1§ gfaliesh, fa.a1. 96 (emf), V = 10 sin 314 t
% frelt wia & ooft & 9aifsa 8 | 59 ufmy § wifed
SR
(1)
(2)
3
4)

0-79 W
0-43W
274 W
1-113W

forelt =t poeelt Aeanfier it g gufear 5 div/mA
3R Fieear guTfear (Fad 313 dicedl ° 3cad v
fag™) 20 div/V 2 | 30 AeamHie &1 afeliy B

(1) 40Q

(2) 25Q

(3) 250Q

(4) 500 Q

136.

137.

138.

139.

A metallic rod of mass

0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with

per unit length

the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

1 714A

(2) 598A

3) 1476 A

(4) 11-32A

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
gravitational The work

potential energy.

required to do this comes from
(1
(2)
(3)

the current source
the magnetic field

the lattice structure of the material of the
rod

the induced electric field due to the
changing magnetic field

4)

An inductor 20 mH, a capacitor 100 uF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

(1 079W
(2) 043 W
3) 274W
4 113W

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 40Q
(2) 25Q
(3) 250Q
(4) 500Q
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140. %1 o 15 cm B%A g0 & A e oo ®

40 cm g0 W feora | =S < Tt w1 gdor <61 o #
20 cm TIAFARG X fean S, @ gfafe feadt gl
¢ foeenfia &1 S 2
(1) 30 cm ST & T
(2) 36 cm T H
(3) 30 cm T % A
(4) 36 cm T % UH

141, % foep-grh @ freh mem d A Vo= Vi@

T W g | TR au 39 fagq-grasde atr @
foga-29 Qom +y 9 % oHfew 3 | 99 @
forega-grarehla a0 % Jrachia & e 6 foum gnft
(1) —zfam

(2 +zfem

(3) -y faam

4 —xfem

142. Teh TS50 % gared w1 suadars /2 3 5| =1 S

30° 3 | 5w % @ omads ol § § wh Wl A
=erR At H1 X I SR T F | TR HAR ©
ToIRT T Tl ThaUll JeRTT 1 I3 4 (U0 AT 58
¥ WEkd g % 9E) 3E 9% W a9" dle S,
e frsW T 379 S0 &1 7 7

(1)
(2)
(3)
(4)

60°
45°
30°
S

143. forHt 96 ¥ 60 mA & 9T JaTfed HE W 3G Wk |

Tfua greshr feafas St %1 9 25 md B | 39 I
T IThed B

(1) 0138 H

(2) 13888 H

(3) 1389 H

(4) 13-89H

140.

141.

142.

143.

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be
(1)
(2)
3)
4)

30 cm away from the mirror
36 cm away from the mirror
30 cm towards the mirror

36 cm towards the mirror

An em wave is propagating in a medium with a
velocity ;)7 = V/i\ . The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(D)
(2)
(3)
(4)

— z direction
+ z direction
— y direction

— x direction

The refractive index of the material of a prism is
V2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence
on the prism is

(1) 60°

(2) 45°

(3) 30°

4)

Zero

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance
(1) 0138H

(2) 138-88 H

(3) 1389 H

(4) 1389 H
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144. fgu T vfmy smw A, fEw deed (V,) 20V,|144. In the circuit shown in the figure, the input
Vpp =0T Vo =07 | I, I 3T o M Bl voltage V; is 20 V, Vg = 0 and Vg = 0. The

1

values of I, Iy and B are given by
20V

20V

1) Tp=40uA, Ip=10mA, B =250
(D) Ip=40uA, Ic=10mA, B (1) Ig=40pA, I =10 mA, B =250

2) In=25uA, In=5mA, =200
(2) Ig=25pA, Ig=5mA, B 2 Ig=25pA, Ip=5mA, p=200

3) Tp=20pA, In=5mA, =250
(¥ Ip=20pA, Ig=5mA, b (3) Ig=20puA, Io=5mA, =250

4) Iz=40pA, Io=5mA, p=125
@ Ig=40u4 lg . 4) Iz=40pA, Io=5mA, f=125

145. ol p-nﬁﬁi SEIE ¥ T g4 ¥ 99 § qiEdd 145. In a p-n junction diode, change in temperature
due to heati
(1) haa e (Fad) sfatg 1 gurfed s 2 | ue tofieating
(1) affects only reverse resistance
(2) <hadl T FfcRIg i THTIT Ll 7 |
(3) p-n @l < ufely i wutierd & HAA ¥ | (3) does not affect resistance of p-n junction

(4) pmn gftr & g9y V — 1 Afeeor sl gafard s (4) affects the overall V — I characteristics of
2 p-n junction

(2) affects only forward resistance

) . . . 146. In the combination of the following gates the
146. oot § fu e 7St 6 GASH ° fria Y R free A i output Y can be written in terms of inputs A and

B% U3l § 39 YR Fad fohaT ST Hehdl & B as

Ae Ae

Be Iﬁ o Y Be
>

> ¥
~—~

(1) A.B (1) A.B
(20 A.B+A.B (2 A.B+A.B
(3 A.B+A.B (3 A.B+A.B
4 A+B 4 A+B
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147. WA W Il g % fRE THAW T8 W B

agfad YehTr a1y ¥ AAd war 7 | feRet faw
YA IV 4 R A T T foh wwmafaa feRtol 3Tk
sqafia fRu Th-gEt % aFed § | FefaRed | @
Hi-a1 fashey o feufa & adt 8 2

wWafdd ThE gfad @ o sHem faga afew
JTYGH % dcl % THH &

Tafda yemr gfed @ i swe foga afew

IATYH o et o ATedd &

i=sin™! (lJ
u

i=tan™! (lJ
u

(D

(2)

3

4)

148. 7 & fgferdt wom #, fofei & = goeha d, 2 mm 2

qu f3rll & 9¢ 1 gl D %l 100 cm W@d §T qUIGE
A = 5896 A % JehTSI T IUAIT fohaT TR B | ¥ 4R
o7 fop fShatl <Al <hIvfiT <iers 0-20° ] | @« (38T A 3R
D & fo) fhait Y wivfig =ierg i seret 0-21° +HW
% for frfei & i o gerehd &1 e &

1:8 mm

(1)
(2) 1'9mm
2:1 mm

3

1-7 mm

(4)

149. el T ST9ad] glaRis 1 HIUE A 3Tfaeh

3 shiofy farsig 3= im, afe saeh stfirgyaes o i
BT g A IR A §9T 3

wiRd gl ek i T e B

B gl 3feeh 37 = 2T 7

BIhd gl FH IR = Bl &

(D
(2)
3)
(4)

147.

148.

149.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are
Which of the

following options is correct for this situation ?

(1) Reflected light is polarised with its electric

vector parallel to the plane of incidence

(2) Reflected light is polarised with its electric

vector perpendicular to the plane of
incidence

. . _1(1J

i=sin | =
v

i=tan_1(1J
U

In Young’s double slit experiment the separation

6))

4)

d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to
(1)
(2)
3)
4)

1-8 mm
19 mm
2:1 mm

1:7 mm

An astronomical refracting telescope will have
large angular magnification and high angular

resolution, when it has an objective lens of
(1)
(2)
(3)
(4)

small focal length and large diameter
large focal length and small diameter
large focal length and large diameter

small focal length and small diameter
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150.

151.

152.

153.

BIgeio ATy <1 fepeh o whem # foReh geiei oAl
TSt STt IR IEeHT el Foll ol AT BT @

1 1:1
(2 1:-1
3 2:-1
4 1:-2

S AV = Vo1 (Vg > 0) 3R ZEWE m
w1 F wwE R BEReT B - - By |
(B = T > 0) H t = 0 T Yoz a1 2 | Al T W
# 30 goidg hI ST alreed o) ®, 9 §WE ¢ W
TEeh! L-STel qTeed ael

foret eanfrea werdl 1 srdf-amyg 10 fire § | =fe
ey H Arfirnl h1 @@ 600 B, 1 450 ATfTeRl %
fqafea a9 # oM aren w (e ) @

(1 20
(2) 10
3) 30
4) 15

Se fRel u1g % I8 W AEN 2v, (I v, gl
IR B) T TR I HIAT &, Al Iedfoid gerag it
1 AfUhad 9 v, 7 | F9 Ufaa fafewr it g
FEH by, H G I @, Al I Y8 H Iedrd
Wqﬂﬁwaﬂvzﬁm%lvlﬁvzaﬂ
3T &
1 1
2 1
3 4
2

1 2
14
01
4) 01

150.

151.

152.

153.

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

(1 1:1
2 1:-1
3 2:-1
4 1:-2

An electron of mass m with an initial velocity
;/3 =V, /1\ (Vo > 0) enters an electric field
}_*]> =— Eoli\ (Eg = constant > 0) at t = 0. If A, is
its de-Broglie wavelength initially, then its
de-Broglie wavelength at time t is

Lo
[1+ eEo tJ
mVO
eEO tj

2 A |1
(2) 0(+mV0

(D

6))
(4)

Aot
}"0

half-life is
10 minutes. If initially there are 600 number of

For a radioactive material,
nuclei, the time taken (in minutes) for the

disintegration of 450 nuclei is

(1) 20
(2) 10
(3) 30
4) 15

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is vy. When the frequency of the incident
radiation is increased to 5v,, the maximum
velocity of electrons emitted from the same plate
is vo. The ratio of v{ to vy is

1) 1:2
2 1:4
3 4:1
4) 2:1
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154.

155.

156.

157.

Toret wafer fguar w1 3w foreft Tt i i Aot &
IS 39 H o forw fopam a7, foem Ay wey
I TS I Uiad! e grT aHTEifeTa foRam ST deha
21 27°C &y 9 W Ty I T=E 20 cm AW
73 cm B W g HUFTA TG 399 B 8 | Al waf
g &1 IERT 320 Hz 7, @1 g § & & 27°C W
an g
(1

(2)

330 m/s
339 m/s
(3) 350 m/s
(4) 300 m/s

Y Q % foreft fogea Tma ufgemr @enfr ¢
% A ITelt g <l ufgemiati & e feR-Ggd 9o
(1) ufgsmaAi & o= ht gt W R =21 = |

(2) dfgweit & = A gt F Wawd: s
B E |

gfgetat & = 6t gt & g % STIHETIAT
B E |

(4) dfgemrait = = h gl FHATIIT BT 2 |

HTS FOHH TaUEEE ¥ Rl THEHE U HW H
Feate fgq-49 E § ®8 § 18 g, h, a1 2 | =@
fogd-&a &1 g sfEidd W@d ge sEehl foum
Iohiid L < It 7 | TR Wietd ot farmrewer |
s & SeateR gt h a6 sE Fr fon S 1 et
% fire o forg 7o g < qorn | g g i d
ot e T R

(1) |

(2) 57T 3T

(3) 10 TMAT Afeh

(4) wHE

H1$ AT Tk HIh So Wad ! ©d U AeH § AR
T Ed qiceh i 9ifd Jad &9 F W-A8 i &
W g | We fRafd ¥ 5 m gl W 3Eeh Teh H
T 20 m/s2 B | e i SATEdhIA &

(1)
(2)
3)
4)

3

2ns
TS
2s
1s

154.

155.

156.

157.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 ecm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 330m/s
(2) 339 m/s
(3) 350 m/s
(4) 300 m/s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(D

independent of the distance between the
plates.

(2) the distance

linearly proportional to
between the plates.

6))

proportional to the square root of the
distance between the plates.

4) to the distance

inversely proportional
between the plates.

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(D
(2)
3
4)

smaller

5 times greater

10 times greater

equal

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is

20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

(D
(2)
3
4)

2 s
TS
2s
1ls
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158.

159.

160.

161.

foreht spfsrent gro fafsefa i P 2 e =g aome,
Ay T 3Tfiehan Hat fafeRfa w3 | o Al =

ISR 1 A9 gREfia & fen s g, we 76 9
%xoa@ﬁzﬁmaﬁwwfﬁr&sﬁamé,a
% g0 FafteRa Wi nP &1 STt & | n 1 WE ERm

(D

(2)

W | W

256
81
81
256

g AR U ggred o &4 g SR gEI o Tad ot wum
g | 95 AR 1 STIRY-HE H &THA A 3R gW AR
hI FATIEI-HE H FTFA 3A B | I 5 F et
UEe R I AR H AL H glg h I 7, 9@ gE AR
Sl awerg H o g & gig H b AT fhdd W Al
JTETAHAT B 2

(1) 9F

(2 6F

(3) 4F

4) F

s o 1 Sig @Y e fotmmaEen ¥ ot v ga
ficar 8 | WW 91 % R0 3HH FOAT 39 Bl R |
M & Sifqm (efld) a9 | 3oqa o= @il
fferfaa § & foraes STgepuUTd 21t 2 2

SV

@ 1

3 r

@ 1t

HE W (1:013 x 10° Nm™2) 3 100°C d™ W
0-1 g e < T 1 100°C ! ¥ & yiafdd s &
AU 54 FAh o HoA B AERIHA B & | AR
3UF WY H AFAA 167-1 cc 7, 9 39 T A
J=afteh ol § qied 8

(1) 104:3J

(2) 20874J

(3) 42:2J

(4) 845J

3

4)

158.

159.

160.

161.

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength % Ao, the power radiated by it

becomes nP. The value of n is

(1)

[SCR R NN U

(2)

256
81
81
256

3

4)

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 9F

(2) 6F

3) 4F

4) F

A small sphere of radius r’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

@

@ 1
3 1°
@

A sample of 0-1 g of water at 100°C and normal
pressure (1-013 x 10° Nm™2) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 104-3J

(2) 2087dJ

3) 42:2J

(4) 845J
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162.

163.

ﬁéﬁaﬁgwmmmq%ﬁﬁmw
fog@-a9 E %mﬁ%ﬁ@ﬁmw%ﬁiw
W IAHE B | T UHUE h AU H 9 q E &
ST ZHHT AT 0 H 6 m/s 8 W@ g | SH &
forgq-g it feam Sowfig S G o B | 5@ B F
AT § R I S HHUS deh Td Hidl Wl g | 0 &
3 THUE & s RgeiHr ®R & 3NEd 9 I 3NHd
1 SHATT: B

(1) 2m/s, 4m/s

(2) 1m/s, 3m/s

(3) 1m/s, 3:5m/s

(4) 1-5m/s, 3m/s
M HI 0 o frel oo 3TMd 951 ABC W m

SEIHT o1 IS sl AR e 8 | 39 o I grff
IR I @ ‘@’ feam Jrar 8 | saih O W feR

T & T a 3 0 % <= geg g
A
2
a
0
C B
1) a= 8
cosec 0
_ 8
@ =359
(3) a=gcosH
(4) a=gtan6

%
164. T4 (2,0, - 3) RFR@ad F = 41 + 5] — 6k ®

g (2, — 2, — 2) % af@: ATl &
1) -8i -4 -7k
A A A
@ -—47-5 -8k
A A A
3) -7i-87] -4k
4) —71-43 -8k

165. Tl B 3 $0uTq <l @7 Tig & =A™ HT 79 0-001 cm

JeqaHT® I B W gRT | H&A 9 H A
5 mm 3R IAE M H I T Tad | 25 WA
SW 2 | A T A9 # I IR - 0:004 cm B, A e
1 Hel A B
(1) 0521 cm
(2) 0525 cm
(3) 0-053 cm
(4) 0529 cm

162.

163.

164.

165.

A toy car with charge q moves on a frictionless
horizontal plane surfatg under the influence oga
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

respectively

(1) 2m/s, 4m/s

(2) 1m/s, 3m/s

3) 1m/s, 3:5m/s

(4) 1-5m/s, 3m/s

A Dblock of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 6
for the block to remain stationary on the wedge
is

A
2
a
m
C B
1 a= 2
cosec 0
g
2 =
@ a=200
(83) a=gecosH
(4) a=gtan®

- A A A
The moment of the force, F =41 + 5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -8i-4j -7k
A A A
@2 -4i-j -8k
A A A
(3 -7i-8j -4k
A A A
4 -17i-4j -8k

A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0521 cm

(2) 0525 cm

(3) 0053 cm

(4) 0529 cm
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166.

167.

168.

169.

M m T Teh Tiasfiel eehl, 4m geaue & foreht
T fOR ek § Hug AT ¥ | HUE % 9YETd, goh
Teeh! o stawen ® o SaT B | ARG Fooh YLk w1
IR T v ], 1 T 0T () T T BT
(1 05

(2) 025

3 038

4) 04

MG T T AR S=18 h & =vRfzEd 9o & Irfem
o™ 7w ¥ TR ITel g s, S| AB = D %
HEATR I hl Sh-31eh T AT 2 | 09 Harg h Bl

B

I O

A

(D
2) D

@ Ip

5

5

(4) ZD

= fovg, A : (T 3™ @), B : (TH dact IR
FHdt) qA C : (Th JAHR BDgl), oW g *
geaqE M et =41 R R, 99 vl =1e o 8 STut
Tmfife 31e7i o Uitd: =hol L @ & | 32 foRmmaEer
M % fu fhu IF 9 TavEs I (W) & e
HIF-G1 GEY TE B ?

(1) Wg>Wg>W,

(2) W,y>Wg>Wg

(3) WB>WA>WC

(4) WA>WC>WB

fafafad § 9 S99 %29 F@T 8 2
(1) e oo adf a0 § =4 gar 2 |
2 wfdew odu w1 Hu=a e rfiers afafsn &

SASHATT BT B |
Y07 5 AT i 1 foliy Hear B |

Tff wfor TqureR i fomTd TEeTs i fomn % THE

3
4)

166.

167.

168.

169.

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be
(1) 05

(2) 025

3 08

(4) 04

A body initially at rest and sliding along a
frictionless track from a height h (as shown in

the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

B

| &)
A

3

@ 2p

)

@ Ip
5

@ 2D

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed m about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) We>Wg>W,
(2) Wuo>Wg>Wg,
3) Wp>W,>Wg
(4) Wr>Wi>Wp

Which one of the following statements is
incorrect ?

(1)

Rolling friction is smaller than sliding
friction.

(2)

Limiting value of static friction is directly
proportional to normal reaction.

3

Frictional force opposes the relative motion.

B E | (4) Coefficient of sliding friction has
dimensions of length.
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170. IS 319 AT Gord SThIY § YO gfafa o787 & qita:

o &9 U R @ 7 | 39 M H GEHE FHE
T@d gu wh B # gfg i ot R T % faw
frfafed 3 & S sdifes ofen fer w il 2

(1)  hiofiE am

(2)  Srged A

(3) =it 7t St

(4) Ui g

171. ¥ % 91 AR SegdE ®a ° oA 78 i et

A, B 3R C W s HArd A K, Kp 3 K 7 |
AC < 31 2 qen g i fedrfa S w SB fesmgem &

AT ACH T g | a9

(D
(2)
3
(4)

Ky <Kp <K
Ky > Kg > K
Kg <K, <K
Kg > K, > K¢

172. T 38 Ml A4 fd § 8 | &ed Tfd § g A

TYME TS it (K,) o ar-ane gqof TS ot
(K,) ¥t 81t 2 | el o fow K = (K, + K,) &1 3916
il
(1)
(2)
(3)
4)

7:10
5:7
10:7
2:5

173. I ¥ &1 gomH %Ogmg‘rawum‘%%w&w

feere afrmer # 10 T &, @ frefafad § 9 sH-a
wdl 7@ w7

(1) aut 6 4 excht W srferen aoft & e |

(2) Rl W AT A HlS B S |

(3) Yot W WA TAIcieh T AT HH & STCT |
(4) Y=t W g’ % A H gfEdd T 8rm |

170.

171.

172,

173.

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(D
(2)
3
(4)

Angular velocity
Moment of inertia
Rotational kinetic energy

Angular momentum

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(D
(2)
3
4)

Ky <Kp < K¢
Ky > Kg > K¢
Kg <Kj) <K
Kg > K, > K

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy

(K,) simultaneously. The ratio K; : (K; + K,) for
the sphere is

(1) 7:10

(2) 5:7

3) 10:7

4) 2:5

If the mass of the Sun were ten times smaller
and the universal gravitational constant were

ten times larger in magnitude, which of the
following is not correct ?

(D
(2)

Raindrops will fall faster.

Walking on the ground would become more
difficult.

Time period of a simple pendulum on the
Earth would decrease.

3

(4) ‘g’ on the Earth will not change.
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174. TFE a0 W SAefH 1veh # aw WIS 4 (rms)

A gt % IYASA H TARH L Hehd % T AT
T B S 2

ERIRIEIRE

SIS o 3T T WM (m) = 2:76 x 10726 kg
diegstM formeh ky = 138 x 1023 J K1)

(1)
(2)
(3)
(4)

2-508 x 10* K
8-360 x 10* K
5016 x 10* K
1254 x 10* K

175. Torelt TohuRAT T % ST (V) § d (T) & a19

fomror o6 H gWiC SgER BT ® | AeEEAl A H
STTEAT B deh I <hl Ufsham # 19 g0 fopu @ o 3R

sﬂé;m;rmﬁﬁamwagqm%
! B
A
o —>T
w 2
@ g
3) %
@ %

176. el o AT 9RY 6 g A fohel a5 AT

TIEd % A g (FE) S STER %k w2 |
afg awg M gy hI T 20 cm B, O G AH
qTSY <l TS B

(1) 13-2cm

(2) 8cm

(3) 12'5cm

(4) 16cm

177. ST T 3 FG2Th o S SR fhdl A1esf

o1 S5 < 2&TdT Bl @
(1) 268%

(2) 20%

(3) 625%

4) 12:5%

174.

175.

176.

177.

At what temperature will the rms speed of
oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :
Mass of oxygen molecule (m) = 2:76 x 10726 kg

Boltzmann’s constant kg = 1-38 x 10_23 J K_l)

(D
(2)
3
(4)

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y%

T

2-508 x 10* K
8:360 x 10* K
5016 x 10* K
1254 x 10* K

o

ﬁT

(1

(2)

6))

N N0 Wi w i ol b

(4)

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

1) 132cm
(2) 8cm
3) 12:5cm
(4) 16cm

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

(1) 26:8%
(2) 20%

(3) 6:25%
4) 12:5%
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178.

179.

180.

(47 + 4-7) kQ Wity & foreht Sreq-gfclias W, Tg==
% foru, fafira aurt o ao ifha fopr 5 2 | 3ot wre
T A BT

(1) S —dier — FRf — =i o1

(2) dar — ST — et — =t o1

(3) el — &0 — S — AR

(4) B AR — S — g

‘v’ FIEH Ficgehi 1 qg=, a8 J® 1 gy
‘R 8, ooftspm W fa.a1.sd (emf), ‘B’ 3R 3r=afiish
gfqtie, ‘R’ 1 et S @ Taforg B | S 9 oft
g I 8 | 316§ ‘n’ JfaQeehi 1 Uwd A § 3EH S
gEa frn S g 1A S oA T awm 10 I &
Tt ] | ‘n’ BT HAH B

(1) 10

2 11

(3) 20

4 9

g St 3maftes gfetiy @ a1e, Fofishd ¥ T, ‘o’
TdEn Al (T n giEdl 3) ¥ oS 7 | 9l *
TGt o1 TgueE ek g/ [ AT S 7 | fem mn
HH-A1 T 1 3R n o = & Tae 1 giiar g ?

I—
t

(0] —n
I

(2) T
0 —>n
I

3) T
(@) —>n

I
4) f i

O —n

(D

178.

179.

180.

A carbon resistor of (47 + 4-7) kQ is to be marked
with of different for
identification. The colour code sequence will be

(D
(2)
3
(4)

rings colours its
Violet — Yellow — Orange — Silver

Yellow — Violet — Orange — Silver

Yellow — Green — Violet — Gold

Green — Orange — Violet — Gold

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is L.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

(1 10
(2 1
(3) 20
4 9

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
The
terminals of the battery are short-circuited and

each) which are connected in series.

the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

I

—

(1)

O —n
I

(2 T
0) —>n
I

3 T
(@) —>n
I

4) T
(@) —n
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NCRIRCE ﬁ@'rq“
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